[ Efficiency vs vertpos |
- 0.2

CTIRT: SR S— SR —

‘g C : : :
>,0-16_—"""""; """""" A s
[5) I : : :
GO 14 i IEREENE 3 ARRRARREERE R
3] n : : :
50.12_—----------; ------------ preee B SRR

0.1+
0.08F
0.06f |}
0.04F
0.028

T

o8- -1 :
1072 10 1

Ratio

10 0?
TP vertr (cr%)

MKFEITS_T |oTu-|owr)t
mkFit_TT_retrain-lowpt
mkFit_TTold-lowpt

mkFit TT_NEWdefault_specPLess3-lowpt

<4

DQ
DQ
Efficiend —— B3

0.8

N C

o - : : : : ]

> 0.7 R AR RREE R i

%) r . . . . .

z o : : : : :

& 0.6F----- CERREERD REPEES Beeeenee ERREEPIES f ERTEPED

c o : : : : :

[} o : : : : :

(8] [ L L . T

g OSppr iy

o E : : : : :
R SR AU S S R
s s s e

T S T s S

Ratio

.............

L ¥ SR SRR

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02
0.03

SO AL | N R

Ratio

...............

15p----1-

5 10 1 20
Sim. PV z (cm)

o
B
(G214 5
o

[ I
L.
A
'
1
it :



	Contents
	Page 1


